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QUESTION 1

Given a limited amount of storage, a technician wants to maximize capacity for multiple hosts and utilization efficiency.
Which of the following would BEST achieve this?

A. LUN load balancing
B. Encryption

C. Compression

D. Thin provisioning

Correct Answer: D

QUESTION 2

Queue Depths can be defined as which of the following?
A. A value of the FICON status menu

B. The number of pending SCSI commands

C. A type of issue with large bandwidth

D. The number of Layer 2 processes on the fiber

Correct Answer: B

QUESTION 3

Which of the following would be the appropriate technology an administrator would use to provision the desired amount
of space to a server, while only the utilized disk space is consumed on the storage array?

A. Fat provisioning

B. Volume groups

C. Virtual provisioning
D. Concatenated groups

Correct Answer: C

QUESTION 4
Some users are reporting performance issues with a newly deployed web server. While running a protocol analyzer, the

system administrator is able to capture both iISCSI and TCP port 80 trafficon the same subnet. Which of the following
can the system administrator implement to separate iSCSI from other network traffic?
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A. VLAN

B. Jumbo frames
C. LUN masking
D. Multipathing

Correct Answer: A

QUESTION 5
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Which of the following allows an administrator to predict SAN utilization in order to plan the storage department\\'s

capital expenditure target?
A. Forecasting

B. Base lining

C. Planning

D. Trending

Correct Answer: D
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